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REPRODUCTION THE GENERATING SYSTEM

Texual Lesson Part

1. Do you think reproduction occurs only for continuation of life ?

° Watch Video Solution

2. How does an organism grow ? How does repair of worn out parts take

place ? Is there any form of reproduction involved in the process ?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_A0c5HLYG15UY
https://dl.doubtnut.com/l/_ZfoGOlkkdVz1

Improve Your Learning Conceptual Understanding

1. Why do fish and frog produce a huge number of eggs each year ?

° Watch Video Solution

2. Give examples and explain what is meant by external fertilisation.

° Watch Video Solution

3. Write differences between

Grafting -Layering

° Watch Video Solution

4. Explain the process of fertilization in plants.

° Watch Video Solution



https://dl.doubtnut.com/l/_hL7qgLvxaO1y
https://dl.doubtnut.com/l/_6IYiwTYmEH8Z
https://dl.doubtnut.com/l/_WHD0ogfZKKhg
https://dl.doubtnut.com/l/_LxKz2Xo2MkQK

5. Explain the process of fertilization in plants.

o Watch Video Solution

6. Double fertilization is wonderful phenomenon in flowering plants.

Explain double fertilization in flowering plant with the help of a diagram.

° Watch Video Solution

7.Name the mode of asexual reproduction in yeast.

o Watch Video Solution

8. Plants propagate normally through seeds. What are other ways that

plans propagte through ? Give examples.

o Watch Video Solution



https://dl.doubtnut.com/l/_LxKz2Xo2MkQK
https://dl.doubtnut.com/l/_CTDtXYZ2bes8
https://dl.doubtnut.com/l/_9ZvPKc8H5qXX
https://dl.doubtnut.com/l/_c9PTAnsA8KQI
https://dl.doubtnut.com/l/_JI4z1MG23eLE

9. What are the advantages of sexual reproduction over asexual

reproduction?

° Watch Video Solution

10. How are sperms cells adapted for their function?

° Watch Video Solution

11. The menstrual cycle prepares the uterus for a fertilised egg. How long

is an average menstrual cycle from start to finish ?

° Watch Video Solution

12. When the foetus is growing inside the uterus it needs nutrients. What

provides these nutrients ?

° Watch Video Solution



https://dl.doubtnut.com/l/_cQKwIc4QoBxN
https://dl.doubtnut.com/l/_yto2OILZcbvG
https://dl.doubtnut.com/l/_3wsCetOs7H1O
https://dl.doubtnut.com/l/_dkbfNVdCVzV2

13. Which type of substances are absorbed by foetus from the mother ?

o Watch Video Solution

14. What is the job of the amniotic sac ?

o Watch Video Solution

15. What are the advantages of sexual reproduction ?

o Watch Video Solution

16. How does reproduction help in providing stability to population of the

of species ?

o Watch Video Solution



https://dl.doubtnut.com/l/_dkbfNVdCVzV2
https://dl.doubtnut.com/l/_sTEBesr2f5of
https://dl.doubtnut.com/l/_4hsXCDFOKVZv
https://dl.doubtnut.com/l/_zOYHOPm3YNsy
https://dl.doubtnut.com/l/_oSfvuwuPKnFY
https://dl.doubtnut.com/l/_nKmBfEAigExF

17. List the main differences between mitosis and meiosis.

o Watch Video Solution

18. What happens to the wall of the uterus during menstruation ?

o Watch Video Solution

19. What changes occur in the wall of the uterus during menstruation ?

o Watch Video Solution

Improve Your Learning Asking Questions And Making Hypothesis

1. ‘All unicellular organisms undergo only mitotic cell division during

favourable conditions" - Do you support this statement ? Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_nKmBfEAigExF
https://dl.doubtnut.com/l/_39flUIUsT2G6
https://dl.doubtnut.com/l/_9tjusmteexRY
https://dl.doubtnut.com/l/_zIyvJDjDDrln

2. What would be the consequences if there is no meiosis in organisms

that reproduce sexually?

° Watch Video Solution

3. What happens if meiosis does not take place in reproductive cells?

° Watch Video Solution

Improve Your Learning Experimentation And Field Investigation

1. Vicky's father wants to grow a single plant having two desirable

characters colourful flowers and big fruits. What method will you suggest

him and why?

° Watch Video Solution



https://dl.doubtnut.com/l/_zIyvJDjDDrln
https://dl.doubtnut.com/l/_C9j6Jhy0FbBx
https://dl.doubtnut.com/l/_NEM4c6uBhdAT
https://dl.doubtnut.com/l/_qcktSwPpTOPP

2. What procedure you will follow to observe stages of mitosis in onion

root tip?

° Watch Video Solution

3. Uproot an onion plant and take a thin section of its root tip. Stain it
and observe under microscope. Draw as you see and identify the stages

of the cell division.

° Watch Video Solution

Improve Your Learning Information Skills And Projects

1. Visit a nearby village and collect information how farmers grow

sugarcane, flowering plants like chrysanthemum, prime rose and
vegetables like stem tubers, plump gourd (dondakaya) etc. Make a report

and submit in class.

. l


https://dl.doubtnut.com/l/_Ul61HqLJKBb3
https://dl.doubtnut.com/l/_c4fHADTzEdYz
https://dl.doubtnut.com/l/_u123Ri5E0uvO

| ¥ vvatch video sSolution J

Improve Your Learning Communication Through Drawing Model Making

1. Collect information from school library or using internet what
vegetative methods are followed in your district as well as in your state

to propagate various plants of economic importance.

° Watch Video Solution

2. Make a flow chart to show the cell cycle and explain cell division

describing different stages of mitosis.

° Watch Video Solution

3. Draw neat labelled diagrams of male and female reproductive system of

plant.

° Watch Video Solution



https://dl.doubtnut.com/l/_u123Ri5E0uvO
https://dl.doubtnut.com/l/_W0DX2xXtZZlh
https://dl.doubtnut.com/l/_nPcmCG5Q6iI2
https://dl.doubtnut.com/l/_RD98uvZphjiQ

4. Observe the following part of a flowering plant. Prepare a note.

stigma

ovary
ovule

éametnphytﬁ
cells

embryo sac

Structure of ovitle

° Watch Video Solution

5. Prepare a flow to explain the process of sexual reproduction in plants.

| o A _L vl . o ~_ ..o


https://dl.doubtnut.com/l/_RD98uvZphjiQ
https://dl.doubtnut.com/l/_MWbFxFdLdB0r
https://dl.doubtnut.com/l/_Fds1wUuOx3i0
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6. Draw a neatly labelled diagram to explain plant fertilisation. Write a few

points on pollen grain.

° Watch Video Solution

Improve Your Learning Appreciation And Aesthetic Sense Values

1. How ill you appreciate cell division that help perpetuation of life?

o Watch Video Solution

Improve Your Learning Application To Daily Life Concern To Biodiversity

1. What precautions will you take to away from various sexually

transmitted discases?

o Watch Video Solution



https://dl.doubtnut.com/l/_Fds1wUuOx3i0
https://dl.doubtnut.com/l/_U9x2akBBz6ur
https://dl.doubtnut.com/l/_zdxfKu5ZwgZF
https://dl.doubtnut.com/l/_AbT2FzqqHA2A

2. What precautions will you take to keep from dissases like AIDS and

other sexually transmitted diseases?

o Watch Video Solution

3. Conduct a seminar on child marriages and foeticide.

o Watch Video Solution

Questions Given In The Lesson 1 Mark Questions

1. How do you think bacteria were dividing to form curd?

° Watch Video Solution

2. How do you think this (parthenogenesls) happens?


https://dl.doubtnut.com/l/_AbT2FzqqHA2A
https://dl.doubtnut.com/l/_M6qdGanTC4NX
https://dl.doubtnut.com/l/_d3ySk96jNR1q
https://dl.doubtnut.com/l/_DiHCfvN6rXEb
https://dl.doubtnut.com/l/_Eh2C9bwm1Q6x

° Watch Video Solution

3. Would it involve two parents?

° Watch Video Solution

4. Which type of fission would produce larger colonies in less period of

time . Why?

° Watch Video Solution

5. Which mode of asexual reproduction provides maximum scope of

choice of desirable characters?

° Watch Video Solution

6. What are the characters that would you like to select?



https://dl.doubtnut.com/l/_Eh2C9bwm1Q6x
https://dl.doubtnut.com/l/_el1EnqkWrQUE
https://dl.doubtnut.com/l/_MEWr5w6jMHmr
https://dl.doubtnut.com/l/_aC3r6UmtjH51
https://dl.doubtnut.com/l/_bqUJV7Iza70E

| ° Watch Video Solution

7.What mode of propagation would help you to produce the plants with

desirable characters?

° Watch Video Solution

8. Do you find any similarities between rhizopus and fern spores and

sporangia?

° Watch Video Solution

9. Think why testis are located outside the abdominal cavity?

° Watch Video Solution

10. What function do you think is served by petals and sepals?



https://dl.doubtnut.com/l/_bqUJV7Iza70E
https://dl.doubtnut.com/l/_F7y8WymTOQ4N
https://dl.doubtnut.com/l/_HoAFwYCaLr6c
https://dl.doubtnut.com/l/_tpd3y656EBkv
https://dl.doubtnut.com/l/_4CP39oG8vFgY

I & Watch Video Solution

11. How many nuclei are present in the pollen grain?

° Watch Video Solution

12. Which floral part may be seen in a fruit?

° Watch Video Solution

13. How would it affect the progeny formed by sexual reoroduction ?

° Watch Video Solution

Questions Given In The Lesson 2 Marks Questions


https://dl.doubtnut.com/l/_4CP39oG8vFgY
https://dl.doubtnut.com/l/_tXjv4CM9fGp5
https://dl.doubtnut.com/l/_XXiVnDFGQsCy
https://dl.doubtnut.com/l/_4DgVSzYZoqXp

1. Is regeneration can also be known as a type of fragmentation? Do you

agree ? Why or why not?

° Watch Video Solution

2. In what way is the anomalous behaviour of water advantageous to

aquatic animals ?

° Watch Video Solution

3. Whether they reproduce by budding, fission or fragmentation ?

Organisms formed are the exact copies of their parents. Is it true? Why?

° Watch Video Solution

4. What about mushrooms, how do they grow? Discuss in your class.

° Watch Video Solution



https://dl.doubtnut.com/l/_kruTyz3PQn4K
https://dl.doubtnut.com/l/_YsUlEwPxcSY2
https://dl.doubtnut.com/l/_v8P0LP2KZPeU
https://dl.doubtnut.com/l/_eAGPX13DEAoE

5. How does the male reproductive cells reach the female reproductive

cells in flowers of such plants (pea plants)?

° Watch Video Solution

6. How are cotyledons useful for the plant?

° Watch Video Solution

7.What would happen if the gametes do not have half the choromosome

number as the skin parent?

° Watch Video Solution

8. Why did the government of india fix the marriage age of boys (21 years)

and girls (18 years)?

e l


https://dl.doubtnut.com/l/_eAGPX13DEAoE
https://dl.doubtnut.com/l/_2YxAGCMckOt9
https://dl.doubtnut.com/l/_Tx81Z4ktIE83
https://dl.doubtnut.com/l/_9FZdefWFiFXE
https://dl.doubtnut.com/l/_uOD6OYSyE4zB

| ¥ Vvatch Video Solution |

9. Do you feel that it is a social responsibilities to control birth after

having one or two children?

o Watch Video Solution

10. What do you understand by the 'Healthy Society' ?

o Watch Video Solution

11. Will you encourage child marriage?

o Watch Video Solution

Questions Given In The Lesson 4 Marks Questions



https://dl.doubtnut.com/l/_uOD6OYSyE4zB
https://dl.doubtnut.com/l/_92pMBlvzCSBE
https://dl.doubtnut.com/l/_gZ4NYLejvYIi
https://dl.doubtnut.com/l/_ihF4uqZ5G5z6

1. Draw the diagram of the flower that you collect and parts shown and

write their functions.

° Watch Video Solution

2. Social discrimination against AIDS patient is also a social evil . Can you

support this Why?

° Watch Video Solution

3. Why doctors are prohibited to do sex determination through

ultrasound scanning for pregnant women ?

° Watch Video Solution

Objective Assignment



https://dl.doubtnut.com/l/_U6FmyMpQbuSV
https://dl.doubtnut.com/l/_hMe1mv0Gk5kc
https://dl.doubtnut.com/l/_g8pxvoITYTaT

1. The part of the female reproductive system that produces the eggs.........

A. Ovary

B. Epididymis

C. Cervix

D. Fallopian tube

Answer:

o Watch Video Solution

2. The term that we use to describe a sperm cell fusing with an egg cell.......

A. Fragmentation

B. Fermentation

C. Fertilisation

D. Fusion


https://dl.doubtnut.com/l/_A2oRXCXj6Vqt
https://dl.doubtnut.com/l/_BD57v13rAY4Y

Answer:

° Watch Video Solution

3. Which part of the male reprodutive system produces (human) the

sperm cell?

A. Vas deference

B. Epididymis

C. Seminiferous tubules

D. Scrotum

Answer:

° Watch Video Solution

4. How does the sperm break throughthe egg cell membrance ? Choose

the option you think is right.


https://dl.doubtnut.com/l/_BD57v13rAY4Y
https://dl.doubtnut.com/l/_MDUqC3TyVzhe
https://dl.doubtnut.com/l/_XEFFtGeQ0PRk

A. Tears a hole in the membrane

B. Dissolves the membrane with chemicals

C. Bites through the membrane with teeth

D. Squeezes through gaps in the memberane

Answer:

o Watch Video Solution

5.Why are egg cells large than sperm cells? Choose the option you think

is right.

A. Egg cells have more cells in them

B. Have food store to help growth after fertilisation

C. Have thicker cell membranes

D. Have larger nuclei

Answer:



https://dl.doubtnut.com/l/_XEFFtGeQ0PRk
https://dl.doubtnut.com/l/_lVkDuBNIQSq0

| o Watch Video Solution

6. Which of these things will affect the way a foetus grows? Choose the

option you think is right.

A. Chemicals in cigarette smoke

B. Alcohol

C. Drugs

D. All of the above

Answer:

o Watch Video Solution

7. Which of the following is the correct squence of steps in the human life

cycle? Choose the right option.

A. Babyhood, childhood, adolescence,adulthood


https://dl.doubtnut.com/l/_lVkDuBNIQSq0
https://dl.doubtnut.com/l/_HMHt8eCi3c4H
https://dl.doubtnut.com/l/_rC1saUUb8a5i

B. Childhood, babyhood, adulthood,adolescence

C. Adolescence, babyhood, adulthood,childhood

D. None of above

Answer:

° Watch Video Solution

Creative Questions For New Model Paper 12 Mark Questions

Name the asexual reproduction shown in the above figure.



https://dl.doubtnut.com/l/_rC1saUUb8a5i
https://dl.doubtnut.com/l/_e3P0gLJGW34u

| ' Vvvatcn viaeo o>oiution

Name the asexual reproduction shown in the above picture.

o Watch Video Solution



https://dl.doubtnut.com/l/_e3P0gLJGW34u
https://dl.doubtnut.com/l/_g8htlWDoShM2

3.

Name the mode of reproduction shown in the above figure.

° Watch Video Solution



https://dl.doubtnut.com/l/_3qkxLeb2tdul

4.

Though which process, the above shown seedless fruits formed?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZJhcYJtfv5Fd

|

5.

Name the above method of reproduction.

o Watch Video Solution



https://dl.doubtnut.com/l/_tLYaGINaBWj7

6.
Name the plant shown in the above figure which propagate though

epiphyllous buds.

° Watch Video Solution

7.l

In which plant, you can see the above propagation?

° Watch Video Solution



https://dl.doubtnut.com/l/_AWXuhaOVxFi3
https://dl.doubtnut.com/l/_SikMeAhKnHDV

8.ls.

In which plant, you can observe the above propagation?

o Watch Video Solution

9.ls

Give one example for the above shown propagation .

o Watch Video Solution

10. L+

Name the above artificial vegetative propagation.

o Watch Video Solution

M.l

Identify the above shown artificial vegetative propagation.



https://dl.doubtnut.com/l/_NsmnNxHQJuPR
https://dl.doubtnut.com/l/_wyfcUIGpwG5L
https://dl.doubtnut.com/l/_cWOX0LIkIHJ4
https://dl.doubtnut.com/l/_veRGOKIXphtC

l & Watch Video Solution

12.

Can you identity the above shown artificial vegetative propagation?

o Watch Video Solution

13. 0

Can you identify the above fungus?



https://dl.doubtnut.com/l/_veRGOKIXphtC
https://dl.doubtnut.com/l/_9Casn0IG3srr
https://dl.doubtnut.com/l/_X1zF502qCbd7

| ° Watch Video Solution

14.

Name the labelled part 'x' in the above figure.

o Watch Video Solution

15. Lo

Can you identify the structure shown in the above figure?

o Watch Video Solution



https://dl.doubtnut.com/l/_X1zF502qCbd7
https://dl.doubtnut.com/l/_ICoEJeprhn4F
https://dl.doubtnut.com/l/_BzhsU8R3wSKN
https://dl.doubtnut.com/l/_VKokF3hubSz9

16. .

To which system the above figure is associated with?

° Watch Video Solution

17.l2

Identify the labelled part 'x' in the above figure.

° Watch Video Solution



https://dl.doubtnut.com/l/_VKokF3hubSz9
https://dl.doubtnut.com/l/_sKNI935hARKE

18.

Name tha ahave ctriictiirea chawn in the ahAave ficiirea


https://dl.doubtnut.com/l/_dPClJYEz1xjp
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o Watch Video Solution

%
r

19.

Name the labelled part 'x' in the above figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_dPClJYEz1xjp
https://dl.doubtnut.com/l/_jevaE4IlzeJU

20. s

To which system the above system belongs to ?

o Watch Video Solution

21,0

Name the labelled part 'x' in the above figure.

o Watch Video Solution

22,000

Name the above structure shown.

o Watch Video Solution

23.0s0

Identify 'x' in the above figure.



https://dl.doubtnut.com/l/_QB2Jy6eylqqs
https://dl.doubtnut.com/l/_3WthY82iIUhG
https://dl.doubtnut.com/l/_uirwYKfBi0Bn
https://dl.doubtnut.com/l/_WvzzhgyS5cfn

| & Watch Video Solution

24. 0.

Identify 'x' in the above figure.

o Watch Video Solution

25. s

Name the labelled part 'x' in the above figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_WvzzhgyS5cfn
https://dl.doubtnut.com/l/_5EhwBEYCUm0h
https://dl.doubtnut.com/l/_D77aB8VRkSqt

26.

Name the labelled part 'x' in the above figure.

° Watch Video Solution

27.l+.

Name the labelled 'x' in the above figure.

f


https://dl.doubtnut.com/l/_Iftqz23o6NRQ
https://dl.doubtnut.com/l/_l6nRpf0ZQSPt

_ o Watch Video Solution

28. 10

Name the labelled part 'x' in the above figure.

o Watch Video Solution

Malnutrition
i)
J L ¥
Calorie Protein 9

29 malnutrition malnutrition

o Watch Video Solution

30. |

Name the labelled part 'x' in the above figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_l6nRpf0ZQSPt
https://dl.doubtnut.com/l/_0qEI2jMhdXHK
https://dl.doubtnut.com/l/_Bq7fonSpNan0
https://dl.doubtnut.com/l/_KLlg8woselMN




31

Name tha ahave ctriictiirea chawn in the ahAave ficiirea


https://dl.doubtnut.com/l/_yrRm3KWPfyt0
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° Watch Video Solution

32. |dentify the scientist with the help of the paragraph.
In the year 1879, he examined many kinds of animal and plant cells and

identified mitotic cell division.

° Watch Video Solution

33. Name the scientist with help of the following paragraph.
He hypothesised that in successive cell division the number of

chromosomes always remain constant. He hypothesised meiosis.

° Watch Video Solution

34. Complete the following blanks.
In skin cells ... (1) division takes place, whereas in reproductive cells

........... (2) division takes place.


https://dl.doubtnut.com/l/_yrRm3KWPfyt0
https://dl.doubtnut.com/l/_z2ElAcxUKpsP
https://dl.doubtnut.com/l/_yALccfL3kKNV
https://dl.doubtnut.com/l/_HDE4Q87LwR9i

° Watch Video Solution

35. Complete the blanks.
Union of one male nucleus with the egg cell, forms ... (1) and the

second male nucleus with the fusion nucleus forms ............ (2)

° Watch Video Solution

36. Complete the blanks.
The sperms are produced by ... (1.

The tail of the sperm helps in ... (2).

° Watch Video Solution



https://dl.doubtnut.com/l/_HDE4Q87LwR9i
https://dl.doubtnut.com/l/_b1J8BfmQqPsw
https://dl.doubtnut.com/l/_cK1DYhELSz7p

37. Observe the flow chart and complete the blanks .

Respiration in frogs

1
[ l

Cutaneous Pulmonary

?
respiration respiration

o Watch Video Solution

38. Fill the missing options

Artificial Propagation |

i )

!

Culting Layering Gralting

Ex: Rose, Hibiscus Ex:MNerium  Ex:[7)

o Watch Video Solution



https://dl.doubtnut.com/l/_d2AGdDx9KiTu
https://dl.doubtnut.com/l/_Hk2xplhOnAn5

39. Fill the missing options
mg
src="https://d10Ipgp6xz60nq.cloudfront.net/physics_images/BRS_ QB BIO X _C(

width="80%">

° Watch Video Solution

40. Fill the missing options

Artilicial Propagation |
! ) !

Cutting Layering Gralting

)

Ex: Rose, Hibiscus Ex:MNerlum  Ex:[7]

o Watch Video Solution



https://dl.doubtnut.com/l/_3E727zCkkqng
https://dl.doubtnut.com/l/_tGJTyYSqPV8n

41.Fill the missing options

Artilicial Propagation
) ! !
Layering Gralting

Cutting

Ex: Rose, Hibiscus Ex : Nerlum

Ex: [T

o Watch Video Solution

42.Expand A.LDS.

o Watch Video Solution

43. Expand STD.

° Watch Video Solution



https://dl.doubtnut.com/l/_iqT2E09SFbTq
https://dl.doubtnut.com/l/_qi4qx9dv7Ti0
https://dl.doubtnut.com/l/_0EmyKdB67mm6

44, Expand H.LV.

o Watch Video Solution

45. Expand ASHA.

o Watch Video Solution

46. Expand AR.T.

o Watch Video Solution

47.dentify the mis-matched pair .
(1) Budding - Yeast
(2) Fission - Paramoecium

(3) Fragmentation - Bees

o Watch Video Solution



https://dl.doubtnut.com/l/_00RqMyZtxgfD
https://dl.doubtnut.com/l/_NohWtotVm132
https://dl.doubtnut.com/l/_3pMkdceGYe80
https://dl.doubtnut.com/l/_KSr7kBsFbExx

48. |dentify the mis-matched pairs.
(1) Stolon - Mango
(2) Bulb - Onion

(3) Root- Raddish

° Watch Video Solution

49. Identify the mis- matched pair.
(1) Plumule - Stem
(2) Radicle -Flower

(3) Endosperm - Nutrition

° Watch Video Solution

50. Identify the mismatched pair.

(1) Marriage age for men - 18


https://dl.doubtnut.com/l/_KSr7kBsFbExx
https://dl.doubtnut.com/l/_dogDPuwnYjix
https://dl.doubtnut.com/l/_avgD1ntLGmZl
https://dl.doubtnut.com/l/_Lw69UudjWu8z

(2) Marriage age for women - 21

(3) AIDS- HIV

o Watch Video Solution

51. Fill the missing options

Artilicial Propagation |
! ) !

Cutting Layering Gralting

)

Ex: Rose, Hibiscus Ex:MNerium  Ex:[7]

o Watch Video Solution



https://dl.doubtnut.com/l/_Lw69UudjWu8z
https://dl.doubtnut.com/l/_ili6CVeauuyH

52. Fill the missing options

Artilicial Propagation |
! ) !

Cutting Layering Gralting

Ex: Rose, Hibiscus Ex:MNerlum  Ex:[7]

o Watch Video Solution

53. Observe the following placards. Suggest one occasion, to use them in

your school.

Lo

o View Text Solution

54. Which of the following group does not constitute vegetative

propagation methods?


https://dl.doubtnut.com/l/_SfPt98hrNVOV
https://dl.doubtnut.com/l/_hPKNSw9e7MGG
https://dl.doubtnut.com/l/_sz1brt1WVimk

A. fission,Budding,Fragmentation,Regeneration

B. Stolons, Suckers, Runners,Bulbs,Corns

° Watch Video Solution

55. Which of the following group represent STDs ?
A. Typhoid, Dengue,T.B, Malaria

B. AIDS,Syphilis,Gonorrhoea

° Watch Video Solution

56. Which of the following group represent the parts of female
reproductive system?
A. Seminal vasicles, cowper gland , prostrate gland

B. Fallopian tube, verus, vagina, ovary, funnel

° Watch Video Solution



https://dl.doubtnut.com/l/_sz1brt1WVimk
https://dl.doubtnut.com/l/_oaovAm0HPPlg
https://dl.doubtnut.com/l/_FvMDECpVMeY6

57.1am a surgical birth control method in males. Who am I ?

° Watch Video Solution

58.1 can act as contraceptive and prevent sexual infection. Who am | ?

° Watch Video Solution

59.1 am a surgical birth control method in females. Who am 1?

° Watch Video Solution

60. | am an artificial method of vegetative propagation, through which

the desired characters can be obtained . Who am 1 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_lCscDlGn4hgj
https://dl.doubtnut.com/l/_5ombsZ7AWJOL
https://dl.doubtnut.com/l/_i0sDkWL8WYEF
https://dl.doubtnut.com/l/_uqdATJgqp2qb

61.1 am one type of cell division . | can repair the wounds and help in the

process of growth . Who am | ?

° Watch Video Solution

62. Which of the following group represents make reproductive parts?
A. Anther, Pollen grain, Stamen

B. Ovary, Corolla, Stigma, Ovule, Ovary

° Watch Video Solution

63. | Formed due to the fusion of second male gamete with fusion

nucleus. l am in '3n' condition . Who am 1 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_VwvbIuEcUKUN
https://dl.doubtnut.com/l/_q7J98eeJTpsP
https://dl.doubtnut.com/l/_UP4V0EPKD08F

64.1 am a fungus. | reproduce asexually through by sporulation. | am also

known as bread mould. Who am 1 ?

° Watch Video Solution

65. Read the following lines, find the error and rewrite it.
Majority of flowering plants have an embryosac consisting of eight cells

and nine nuclei.

° Watch Video Solution

66. Read the following lines, find the error and rewrite it.
Pollen grain may have a pollen tube and one nucleus. It germinates only

on the style.

° Watch Video Solution



https://dl.doubtnut.com/l/_O7XjnTUqAWSj
https://dl.doubtnut.com/l/_gacVS0V6y2S6
https://dl.doubtnut.com/l/_21kmHfbKnLL9

67.Read the lines, find the error and rewrite it.
One of the two sperms fuses with the egg to form a zygote. By the time
the egg cell gas been fertilized, the two polar nuclei to form a single endo

sperm nucleus.

° Watch Video Solution

68. Read the following lines, find the error and rewrite it.

Zygote is in '3n’' condition and endosperm nucleus is in '2n' condition.

° Watch Video Solution

69. 1 am a special tissue formed after double fertilization. | store food

materials for the nourishment of the embryo. Who am 1?7

° Watch Video Solution



https://dl.doubtnut.com/l/_kGin92barOgx
https://dl.doubtnut.com/l/_nJkoP3fShfgV
https://dl.doubtnut.com/l/_bOQc8ULhx1Xv

70. We digest and obsorb the endosperm and make the stored food for

the growth of epicotyl and hypocotyl. Can you name us?

o Watch Video Solution

71. Rhizopus: Sporangium, Aspergillus: ?

o Watch Video Solution

72. Mango: Grafting: Nerium:?

o Watch Video Solution

73.Bulb : Onion: Tuber:?

o Watch Video Solution



https://dl.doubtnut.com/l/_3zPJTaVWcYqk
https://dl.doubtnut.com/l/_V943BNTuL06n
https://dl.doubtnut.com/l/_5XrBg95iSRae
https://dl.doubtnut.com/l/_AN5xPY9M9u6L

74. Stolon: Jasmine, Corm:?

o Watch Video Solution

75.Rhizome: Stem, Bryophyllum:?

o Watch Video Solution

76. Planaria: Regeneration, Spirogyra: ?

o Watch Video Solution

77. Amoeba: Binary fission, Yeast: ?

o Watch Video Solution



https://dl.doubtnut.com/l/_6hrAFnH2sAhb
https://dl.doubtnut.com/l/_SmVryKxhNhEo
https://dl.doubtnut.com/l/_bTUXtBqArLX1
https://dl.doubtnut.com/l/_tlt12Uwyvgb0

78.Name the scientist with the help of the following paragraph.
He proposed the cell the theory. He proposed that "Omnis cellula de

cellula."

° Watch Video Solution

79. Name the scientist with help of the paragraph.
He proposed that chromosomes carried a different set heritable

elements.

° Watch Video Solution

80. Expand D.N.A.

° Watch Video Solution

81. Expand R.N.A.

| e |


https://dl.doubtnut.com/l/_Yp99lfoGq6RH
https://dl.doubtnut.com/l/_VD0qfkb60vj7
https://dl.doubtnut.com/l/_27609AxcyLgm
https://dl.doubtnut.com/l/_dc8JdnJZ3O59

I &J Watch Video Solution

82. Name the scientist with the help of this paragraph.
In 1904, he proposed the scheme of mitotic division. It was consider as

the mile stone in the history of cell biology .

° Watch Video Solution

83. Name the scientist , with the help of the following lines.
In 1953, they discovered the structurte of DNA and they declared that it

was double helix. They were honoured with the Nobel prize for their work.

° Watch Video Solution

84. Identify the mis-matched pair.
(1) Would AIDS Day -June, 5
(2) STD-Gonorrhoea

(3) ASHA- HIV patients


https://dl.doubtnut.com/l/_dc8JdnJZ3O59
https://dl.doubtnut.com/l/_OxkYrTyAuRxg
https://dl.doubtnut.com/l/_poSICAOOokNf
https://dl.doubtnut.com/l/_sxKkqStsGV95

o Watch Video Solution

85. Name the scientist with the help of the following lines.
In 1876, he showed that plants when isolated had the greatest tendency
to self-fertilize while when surrounded by variety of the same flowers,

they radify cross fertilize.

o Watch Video Solution

86. | originate from the digestive canal of the embryo. | am a tube like
structure | have very important blood vassels that connect the embryo

with the placenta. Who am I?

o Watch Video Solution

87. Identify the correct sequence.
(A) Prophase — Anaphase — Telophase — Metaphase

(B) Prophase — Metaphase — Anaphase — Telophase


https://dl.doubtnut.com/l/_sxKkqStsGV95
https://dl.doubtnut.com/l/_gzWY0C2ISUDd
https://dl.doubtnut.com/l/_4PWbnwmDgo62
https://dl.doubtnut.com/l/_gOVxldGsyqz3

(C) Metaphase — Telophase — Prophase — Anaphase

(D) Prophase — Anaphase — Metaphase — Telophase

° Watch Video Solution

88.In the diagram, 'X' denotes.....ccccccccecevuce

&2

° Watch Video Solution

List- A List-B

1. Fragmentation —Fungi e .
. Write t -mat .

2. Budding _ Paramoecium rite the mis-matched pairs

3. Binary fission = —Flatworm

o Watch Video Solution



https://dl.doubtnut.com/l/_gOVxldGsyqz3
https://dl.doubtnut.com/l/_HIE9Vhm5asCV
https://dl.doubtnut.com/l/_ugZMrMd0jTeB

90. Arrange the stages of cellll-cycle of mitosis in correct order:
S phase | = |G, phase
1 2

M phase| — (G, phase
-3 4

o Watch Video Solution

91. Arrange the sequence of steps of human life cycle.
1. Adolescence

2. Babyhood

3. Adulthood

4. Childhood

o Watch Video Solution



https://dl.doubtnut.com/l/_Fn9UhTb2db3B
https://dl.doubtnut.com/l/_pIuLNZYIUPcb

92. This symbol denotes.......

o Watch Video Solution



https://dl.doubtnut.com/l/_3LcVtOWPza7q

93. The student observes pollen grains under nicroscope.

It appears as below. 'X' indicates.............

o Watch Video Solution



https://dl.doubtnut.com/l/_JkX2RTjnMYyU



https://dl.doubtnut.com/l/_VaJHnTq8RkWx

95. Name the structures found in a bean seed shown in the figure.

o Watch Video Solution

96. The Pollen grain has 2 Nuclei. Whenever the pollen tube enters the
Embryo soon after the tip of the pollen tube enters the embryo sec, the
end of the tube ruptures and releases the two sperms into the embryo
sac. One of the two sperms fuses with the egg to form X' and another
sperm fuses with polar nuclei and form Y. What are X and Y in the above

para?

o Watch Video Solution



https://dl.doubtnut.com/l/_CklrWDNTnHwa
https://dl.doubtnut.com/l/_QYTBW7ZghmYF
https://dl.doubtnut.com/l/_WwCrRhClTurw

97. Name the part which is asked as a question mark ?

Atk
Sivvmnbary Nugheny
iwrghds

!

o Watch Video Solution

98. Who stated that binary fission of cells was the means of reproduction

of animals cells?

o Watch Video Solution

99. Who hypothesised that individuals of the same species have the same

number of chromosomes ?

[ o |


https://dl.doubtnut.com/l/_WwCrRhClTurw
https://dl.doubtnut.com/l/_AMykAm5Ak54T
https://dl.doubtnut.com/l/_Sak4qt6mJmHO

l & Watch Video Solution

100. Identify the mismatched pair.

(a) Runner — Grass
(b) Tuber — Potato
(¢) Bulb —  Carrot

° Watch Video Solution

101. Surgical method: Tubectomy : : Barrier method.......7............

° Watch Video Solution



https://dl.doubtnut.com/l/_Sak4qt6mJmHO
https://dl.doubtnut.com/l/_ZHHMX30b6C7W
https://dl.doubtnut.com/l/_Y8vbhP7ENd2G

102. Which type of flower is this?

° Watch Video Solution



https://dl.doubtnut.com/l/_O3JtsA0K3eGj

103. This is an example for ...

A. Bisexual flower

B. unisexual flower

C. sterile flower

D. none of these

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_30slVafvH8H9

104. In this diagram, X represents

r-—.-—--‘l

° Watch Video Solution

105. In this diagram, X represents

&2


https://dl.doubtnut.com/l/_30slVafvH8H9
https://dl.doubtnut.com/l/_HHEoxaH3TQPu
https://dl.doubtnut.com/l/_dhxpH88ZoHE0

o Watch Video Solution

106. In this diagram, X denotes

-



https://dl.doubtnut.com/l/_dhxpH88ZoHE0
https://dl.doubtnut.com/l/_3PeOlfe5IWYA

I & Watch Video Solution

107. In this diagram, X represents

o Watch Video Solution



https://dl.doubtnut.com/l/_3PeOlfe5IWYA
https://dl.doubtnut.com/l/_gq3kCTxOD9dr

108. In this diagram X represents

o Watch Video Solution



https://dl.doubtnut.com/l/_T0Kce06MaFjN

o Watch Video Solution



https://dl.doubtnut.com/l/_tlqgcscQHIxQ

110. In the given diagram X represents

o Watch Video Solution

111. Name the structure that denotes 'X' in the given diagram.



https://dl.doubtnut.com/l/_CcrWu2UGkM3E
https://dl.doubtnut.com/l/_CECUgMlRPzqX

l o Watch Video Solution

112. Fill the missing options

Artilicial Propagation |
! ! !

Culting Layering Gralting

)

Ex: Rose, Hibiscus Ex:Nerlum  Ex:[T]

° Watch Video Solution

113. Identify the mismatched pair
(1) Tuber - Potato
(2) Corn - Colocasia

(3) Bulb - Ginger

° Watch Video Solution



https://dl.doubtnut.com/l/_CECUgMlRPzqX
https://dl.doubtnut.com/l/_cWDgbfuZjj7T
https://dl.doubtnut.com/l/_i3l4Ii0H5Juu

114. Can you identify this phase of mitosis?

Lo

° Watch Video Solution

115. Arrange the flow chart in correct order.

Gaseous exchange|  |Gas transport

at lungs level by blood
O 2)
Gaseous

exchange at
tissue level

5)

- — (Breathing

3

Cellular
respiration

Ol

° Watch Video Solution



https://dl.doubtnut.com/l/_ZMR5V078cawA
https://dl.doubtnut.com/l/_GBE5n3CMCMUU

116. Complete this flow chart.

Photosynthesis

L

Light reaction

&

Dark reaction

9

L

ATP, NADPH

Glucose

° Watch Video Solution

117. Complete this table.

1) Pepsin

[ 2) Trypsin

° Watch Video Solution



https://dl.doubtnut.com/l/_RSfOi31bg53a
https://dl.doubtnut.com/l/_cCdtN8GHKldj

Creative Questions For New Model Paper Preparation Questions For The

Examination Purpose

1. What is the mede of asexual reproduction do you find in paramoecium

?

o Watch Video Solution

2. Name the mode of asexual reproduction in yeast.

o Watch Video Solution

3. Where do you observe 'fragmentation' mode of asexual reproduction?

o Watch Video Solution

4. In which process, the female gametes develop into zygote without

fertilization ?


https://dl.doubtnut.com/l/_PQGrFKPe7zsw
https://dl.doubtnut.com/l/_3xQ8r12K9ilc
https://dl.doubtnut.com/l/_FPZ8ujhNtrjR
https://dl.doubtnut.com/l/_It31hmSyd6Wt

° Watch Video Solution

5. Name the process of development of young ones from unfertilized

ovum.

° Watch Video Solution

6. What is the cause for formation of seedless fruits ?

° Watch Video Solution

7.What kind of reproduction do you observe in bees, wasps and ants ?

° Watch Video Solution

8. Where do you observe "regeneration” ?

° Watch Video Solution



https://dl.doubtnut.com/l/_It31hmSyd6Wt
https://dl.doubtnut.com/l/_TwfFZISrb049
https://dl.doubtnut.com/l/_RHA9SjAaPe5j
https://dl.doubtnut.com/l/_3BU63CP4kuQL
https://dl.doubtnut.com/l/_1zMk12ZVj8EV

9. In which plant te vegetative propagation occurs through leaves ?

° Watch Video Solution

10. Give an example for bulbs.

° Watch Video Solution

11. Give an example for tubers.

° Watch Video Solution

12. Give two example for stolon.

° Watch Video Solution



https://dl.doubtnut.com/l/_1zMk12ZVj8EV
https://dl.doubtnut.com/l/_2gbBczUMciGW
https://dl.doubtnut.com/l/_vZVHWWTF7vYl
https://dl.doubtnut.com/l/_Fr1t2h4ZoXNX
https://dl.doubtnut.com/l/_j9FuMbSZ2zEh

13. Give one example for corm.

o Watch Video Solution

14. Give one example for rhizome.

o Watch Video Solution

15. Give examples for storage roots.

o Watch Video Solution

16. Give example for cuttings.

o Watch Video Solution

17.1n which plant we can see 'layering' ?


https://dl.doubtnut.com/l/_lH9qC6gzepSB
https://dl.doubtnut.com/l/_XGZqpGnsVjMu
https://dl.doubtnut.com/l/_bRSXCxGMe0XE
https://dl.doubtnut.com/l/_9ylChsapK4FN
https://dl.doubtnut.com/l/_OOHvmrxiPvuC

° Watch Video Solution

18. What is the best method to obtain desirable characters in a plants ?

° Watch Video Solution

19. What are the traditional methods of artificial propagation ?

° Watch Video Solution

20. Name the process in which thousands of plants can be grown in very

short interval of time.

° Watch Video Solution

21. Suggest the artificial method of propagation best for commercial

propagation of plants.



https://dl.doubtnut.com/l/_OOHvmrxiPvuC
https://dl.doubtnut.com/l/_jeKWtp6KR8XG
https://dl.doubtnut.com/l/_hivzrQJg9LsR
https://dl.doubtnut.com/l/_eFimm0BA8KVk
https://dl.doubtnut.com/l/_VD7KVyWlgL2m

| ° Watch Video Solution

22. What is "bread mould" ?

° Watch Video Solution

23.What is the process of reproduction in Rhizopus ?

° Watch Video Solution

24.What is the reproductive structure of Rhizopus ?

° Watch Video Solution

25.In which plant do you observe "sporophyll" ?

° Watch Video Solution



https://dl.doubtnut.com/l/_VD7KVyWlgL2m
https://dl.doubtnut.com/l/_gtDsrqZcnSAN
https://dl.doubtnut.com/l/_QiFE5NdQClh6
https://dl.doubtnut.com/l/_mGAESYy8fqde
https://dl.doubtnut.com/l/_LMiUsv3W3q0b
https://dl.doubtnut.com/l/_G6thbPRkeZVc

26.0n the lower side of the leaf of Fern, the cluster of dot like structures

are seen. Can you name these structures ?

° Watch Video Solution

27. Name the part that produces the sperm cells or male reproductive

cells in the male reproductive system ?

° Watch Video Solution

28.In plants, the fusion of male gamete with secondary nucleus results is

?

° Watch Video Solution

29. Where can you observe double fertilization and triple fusion ?

° Watch Video Solution



https://dl.doubtnut.com/l/_G6thbPRkeZVc
https://dl.doubtnut.com/l/_5CaQIPN4rgjA
https://dl.doubtnut.com/l/_P5jeYS4MxMSi
https://dl.doubtnut.com/l/_X0lO2WHkObQL

30. Name the body part which has divisonless cells.

° Watch Video Solution

31. What are the hazardous substance that show effection the growth of

foetus ?

° Watch Video Solution

32. What is the gestation period in human beings ?

° Watch Video Solution

33.What are the functions of testes during puberty ?

° Watch Video Solution



https://dl.doubtnut.com/l/_X0lO2WHkObQL
https://dl.doubtnut.com/l/_3QK65b2OeyDf
https://dl.doubtnut.com/l/_B567AdUrIHGE
https://dl.doubtnut.com/l/_93fJ02IPsDWA
https://dl.doubtnut.com/l/_6aeO3XKl3Cww
https://dl.doubtnut.com/l/_UU2VhxtZmXOI

34.The teacher said that egg cells are lager than sperm cells. What is the

reason for this ?

° Watch Video Solution

35. Mother's uterus tissue and chorion tissue of the embryo together

form a structure. What do you name it ?

° Watch Video Solution

36. With what name do you call the embryo after the third month of

pregnancy ?

° Watch Video Solution

37.When do we celebrate 'Would' s AIDS day' ?

° Watch Video Solution



https://dl.doubtnut.com/l/_UU2VhxtZmXOI
https://dl.doubtnut.com/l/_wraFgzbHFtrF
https://dl.doubtnut.com/l/_UPy4DfO2J7pF
https://dl.doubtnut.com/l/_ayaUxNRuY9SH

38. What are the most important floral organs required for sexual

reproduction ?

o Watch Video Solution

39. Where do you observe diploid condition in the embryo sac at the time

of fertilization ?

o Watch Video Solution

40. In which organisms do you observe external fertilization ?

o Watch Video Solution

41. Name the STD which is used by bacteria.

o Watch Video Solution



https://dl.doubtnut.com/l/_9Qt9hFl1MUEZ
https://dl.doubtnut.com/l/_kkDK3zYrqjKY
https://dl.doubtnut.com/l/_QBiau9s5sBPF
https://dl.doubtnut.com/l/_RF7VjP2vok7v
https://dl.doubtnut.com/l/_NTgffjCaPzoF

42.Name the method of contraception protects a person from acquiring

a sexually transmited disease.

o Watch Video Solution

43. Name the surgical birth control method in males.

o Watch Video Solution

44.Name the surgical birth control method in females.

o Watch Video Solution

45. Name the part of the seed which grows and develops into root on

germination.

o Watch Video Solution



https://dl.doubtnut.com/l/_NTgffjCaPzoF
https://dl.doubtnut.com/l/_028s6xsARFcM
https://dl.doubtnut.com/l/_mTpbLy8nftKC
https://dl.doubtnut.com/l/_85g5w3ac7PTU
https://dl.doubtnut.com/l/_0PZSuJZsQQRy

46. If a flower constains both stamen and carpel, then what do we cells

this flower?

o Watch Video Solution

47. "Plants perfect self pllination, when they are isolated ' - Who said

these words ?

o Watch Video Solution

48. Who discovered mitosis ?

o Watch Video Solution

49. Name the phase of mitosis in which chromosomes split together to

form chomatids.

o Watch Video Solution



https://dl.doubtnut.com/l/_0PZSuJZsQQRy
https://dl.doubtnut.com/l/_dC3hokdJ6vzI
https://dl.doubtnut.com/l/_4huN0gHf6Rfr
https://dl.doubtnut.com/l/_s7M5WQZ0XywW

50. What are the programmes implimenting to control AIDS in our state ?

° Watch Video Solution

51. Where do you observe epiphyllous buds?

° Watch Video Solution

52. What is the first cells formed after the union of male gametes will egg

?

° Watch Video Solution

53. Name the watery lymph like fluid that accumulates in the mammary

glands during the last part of pregnancy.

° Watch Video Solution



https://dl.doubtnut.com/l/_meRuxUWsSTJi
https://dl.doubtnut.com/l/_1VoW0rUFHhI1
https://dl.doubtnut.com/l/_Rfc6Uj68OLgj
https://dl.doubtnut.com/l/_T8CkXUEQitbH
https://dl.doubtnut.com/l/_9SWkmOUlVoec

54. Male reproductory system secretes a fluid called semen . What is its

use ?

o Watch Video Solution

55. What type of cell division can we observe in reproductive cells?

o Watch Video Solution

56. Name the perlod of cell cycle during which DNA is aynthesized.

o Watch Video Solution

57. What is Cytokinesis. ?

o Watch Video Solution



https://dl.doubtnut.com/l/_9SWkmOUlVoec
https://dl.doubtnut.com/l/_nZHF8eDZ5jO5
https://dl.doubtnut.com/l/_13huMKilh9wz
https://dl.doubtnut.com/l/_lJRkyyXvka1J

58. What is Karyokinesis ?

o Watch Video Solution

59. Give examples for sexually transmitted diseases (STDs).

o Watch Video Solution

60. Where does fertilization takes place in females ?

o Watch Video Solution

61. Who confirmed scheme of mitotic division in 1904 ?

o Watch Video Solution

62. Give an example for intra uterine device.


https://dl.doubtnut.com/l/_OzvpVww55Y0q
https://dl.doubtnut.com/l/_Vy58jpziMEjC
https://dl.doubtnut.com/l/_AHEmsRriQ135
https://dl.doubtnut.com/l/_ox9jdNn4lUxE
https://dl.doubtnut.com/l/_AI88VMBj0YXL

° Watch Video Solution

63. What is the statutory marriageable age for men and women in India ?

° Watch Video Solution

64. Where is the egg apparatus is placed in the embryo sac ?

° Watch Video Solution

65. What do anthers contain ?

° Watch Video Solution

66. What are responsible- inheritance of characters ?

° Watch Video Solution



https://dl.doubtnut.com/l/_AI88VMBj0YXL
https://dl.doubtnut.com/l/_jhxyro71BTgP
https://dl.doubtnut.com/l/_8EnFyEOUgfhh
https://dl.doubtnut.com/l/_JUpbv532NlcH
https://dl.doubtnut.com/l/_DrAi1Uo8nS4u
https://dl.doubtnut.com/l/_8iabFtSgdMDB

67. Who discovered that chromosomes appear double in nature ?

° Watch Video Solution

68. Who discovered the double helical structure of DNA ?

° Watch Video Solution

69. Give an example for modified underground stem.

° Watch Video Solution

70. How does colostrum helpful for the new born baby ?

° Watch Video Solution

Creative Questions For New Model Paper 1 Mark Questions


https://dl.doubtnut.com/l/_8iabFtSgdMDB
https://dl.doubtnut.com/l/_327toUp3RYoZ
https://dl.doubtnut.com/l/_o3fuWmt7JXXe
https://dl.doubtnut.com/l/_l9yuuCUoHTd1
https://dl.doubtnut.com/l/_HeLLY7D4WxxB

1.In what way does mitotic division help the living organism ?

° Watch Video Solution

2. What questions you ask the doctor, who visited your school on world

AIDS day ?

° Watch Video Solution

3. What is colostrum ?

° Watch Video Solution

4. Give any two suggestions to create awareness to stop female foeticide.

° Watch Video Solution



https://dl.doubtnut.com/l/_HeLLY7D4WxxB
https://dl.doubtnut.com/l/_lE3I0UcCShzI
https://dl.doubtnut.com/l/_TVwAy33V3b4D
https://dl.doubtnut.com/l/_Z37urYHMUOQ0

5. Write two precautions you take , while observing Rhizopus in the

laboratory.

° Watch Video Solution

6. Name the types of asexual reproduction in the following organisms:
(a) Paramoecium

(b) Yeast

° Watch Video Solution

7. Apparao and Ramulamma are a newly married illiterate couple. They
don't want children for few years. Suggest some birth control methods

for them.

° Watch Video Solution



https://dl.doubtnut.com/l/_bciOViNh1neF
https://dl.doubtnut.com/l/_3YgM9Fe9EW1C
https://dl.doubtnut.com/l/_notHBz9fMAks

8. During favourable conditions paramoecium reproduce by ?

o Watch Video Solution

9.1n which organisms fragmentation is a common mode of reproduction

?

o Watch Video Solution

10. What is parthenogenesis ? Give example.

o Watch Video Solution

11. What are the methods of artificial propagation ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XbUNtSEGRDRQ
https://dl.doubtnut.com/l/_8eww4BCUFGuS
https://dl.doubtnut.com/l/_Wsj8W6eYQlb3
https://dl.doubtnut.com/l/_TUTUxEGGJTFm

12. Which method is used to obtain a plant with desirable characters ?

o Watch Video Solution

13. What is tissue chlture ?

o Watch Video Solution

14. What is the name of common bread mould ?

o Watch Video Solution

15. What is fertilisation ?

o Watch Video Solution

16. Give examples and explain what is meant by external fertilisation.


https://dl.doubtnut.com/l/_ymPDxLgqQNSG
https://dl.doubtnut.com/l/_SGcKWHF4yFdY
https://dl.doubtnut.com/l/_oxklH3DmxJGG
https://dl.doubtnut.com/l/_b6Zndyi0sA4j
https://dl.doubtnut.com/l/_zRd6IgkoHvrL

° Watch Video Solution

17. What is internal fertilisation ?

° Watch Video Solution

18. What are the parts that present in male reproductive sysytem of man

?

° Watch Video Solution

19. What are the accessory glands present in male reproductive system?

° Watch Video Solution

20. What is ovulation ? How it occurs ?

° Watch Video Solution



https://dl.doubtnut.com/l/_zRd6IgkoHvrL
https://dl.doubtnut.com/l/_wKjOguM9vYyZ
https://dl.doubtnut.com/l/_KtcYhBQtMG29
https://dl.doubtnut.com/l/_9CzFAYbwX1e7
https://dl.doubtnut.com/l/_7Lz3cEBuq1wE

21. Which one of the following is not the function of placenta ? It

° Watch Video Solution

22.When did the placenta is formed in the period of pregnency ?

° Watch Video Solution

23. What is umblical cord?How does it form?

° Watch Video Solution

24. What is foetus ?

° Watch Video Solution



https://dl.doubtnut.com/l/_7Lz3cEBuq1wE
https://dl.doubtnut.com/l/_3vxp3NTkQtas
https://dl.doubtnut.com/l/_wGSLG4Yqr3CG
https://dl.doubtnut.com/l/_MBH6yFFDJHPW
https://dl.doubtnut.com/l/_ZXIlMsFcTavk

25.What is gestation period ?

o Watch Video Solution

26. What are labour pains ?

o Watch Video Solution

27. What is the need of sexual reproduction ?

o Watch Video Solution

28. What are the different part of a flower ?

o Watch Video Solution

29. What are unisexual flower ?


https://dl.doubtnut.com/l/_NCvlLXHl4R1W
https://dl.doubtnut.com/l/_XadWYqJuNDEL
https://dl.doubtnut.com/l/_r3tt9vByTous
https://dl.doubtnut.com/l/_tAbTds1Ow4em
https://dl.doubtnut.com/l/_VbBZwmVGmOjx

° Watch Video Solution

30. What are the three parts of carpel ?

° Watch Video Solution

31. What is self pollination ?

° Watch Video Solution

32.What is cross pollination ?

° Watch Video Solution

33. What is double fertilisation ?

° Watch Video Solution



https://dl.doubtnut.com/l/_VbBZwmVGmOjx
https://dl.doubtnut.com/l/_Dyjbd0F0fWPD
https://dl.doubtnut.com/l/_8pQbJuPXhyUV
https://dl.doubtnut.com/l/_nGURZtZ928oV
https://dl.doubtnut.com/l/_OwgqFM0ATEeI
https://dl.doubtnut.com/l/_dNSkYiGKbrRP

34. Who discovered mitosis ?

° Watch Video Solution

35.What is the meaning of the phase "Omnis cellula de cellula" ?

° Watch Video Solution

36. What is interphase ?

° Watch Video Solution

37.What is G phase of the interphase?

° Watch Video Solution

38.What is 'S' phase of the interphase ?


https://dl.doubtnut.com/l/_dNSkYiGKbrRP
https://dl.doubtnut.com/l/_aHpL1aVNk70I
https://dl.doubtnut.com/l/_QE5nl0X3Yey1
https://dl.doubtnut.com/l/_NIOD0saQXHpB
https://dl.doubtnut.com/l/_ZhLbGXeQGCuB

° Watch Video Solution

39. What is G5 phase of the interphase ?

° Watch Video Solution

40. What are the different stages present in mitosis ?

° Watch Video Solution

41. When does meiosis occur ?

° Watch Video Solution

42.What is the virus that causes AIDS ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZhLbGXeQGCuB
https://dl.doubtnut.com/l/_F8DSR6zqAEul
https://dl.doubtnut.com/l/_ImRTtlKNPm43
https://dl.doubtnut.com/l/_KUVhK6L5HVEq
https://dl.doubtnut.com/l/_EO10FtCgenMw
https://dl.doubtnut.com/l/_g54V6ZdcrlRl

43. How does AIDS spread from one person to another ?

° Watch Video Solution

44. What are the factors that contribute to the spread of HIV in the

state?

° Watch Video Solution

45. What is contraception ?

° Watch Video Solution

46. What are the surgical methods to prevent fertilisation ?

° Watch Video Solution



https://dl.doubtnut.com/l/_g54V6ZdcrlRl
https://dl.doubtnut.com/l/_CD56uZZqeWYM
https://dl.doubtnut.com/l/_UmT99qBsjnRo
https://dl.doubtnut.com/l/_CGFzSzOBmv7R

47. What is foeticide ?

° Watch Video Solution

48. Who used cells fusion technique to understand the functional

relationship between different phases of interphase ?

° Watch Video Solution

49. What is the advantage of reproduction through spores in the case of

rhizopus ?

° Watch Video Solution

50. Which process taking place in the nucleus of a cell leads to variation

in the offspring during reproduction ?

° Watch Video Solution



https://dl.doubtnut.com/l/_oABL0YE6EUvI
https://dl.doubtnut.com/l/_MTkXqQ8Y8orZ
https://dl.doubtnut.com/l/_aw6VJIFdVvbR
https://dl.doubtnut.com/l/_4GuLU8q1SQQf

51. Why it is said that sexual reproduction promotes diversity of

characters in the offspring ?

° Watch Video Solution

52. Name the causative organism of syphilis and gonorrhoea .

° Watch Video Solution

53. Why are variation possible in progeny of sexually reproductive

individuals ?

° Watch Video Solution

54. The simple animals such as planarism can be cut number of pieces

and each piece grows into a complex organism. What is this process


https://dl.doubtnut.com/l/_4GuLU8q1SQQf
https://dl.doubtnut.com/l/_duliEel7RUuF
https://dl.doubtnut.com/l/_NNxFTe8RhTsM
https://dl.doubtnut.com/l/_IbZtX3m8Xzl5
https://dl.doubtnut.com/l/_YIsOSkhH25GO

known as ?

° Watch Video Solution

55. A student kept leaves of Bryophyllum in the soil. After few days new

plants were grown from them. Why ?

° Watch Video Solution

56. Name the three plants which are now grown using plant tissue

culture method.

° Watch Video Solution

57. What does the mother's blood take away from the baby and into the

placenta ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YIsOSkhH25GO
https://dl.doubtnut.com/l/_m7fK2stGypF5
https://dl.doubtnut.com/l/_Js1HzluKABcb
https://dl.doubtnut.com/l/_ZRvxptGXG0r9
https://dl.doubtnut.com/l/_VEsqLEqvzkz4

58. What happens if the fallopian tubes are partially blocked and the

ovulated eggs are prevented from reaching the uterus ?

° Watch Video Solution

59. What will happen if there is no mitosis at all in living organisms ?

° Watch Video Solution

60. How will you stain a microscopic slide showing mitosis in onion roots

?

° Watch Video Solution

61. What happens if the fallopian tubes are partially blocked and the

ovulated eggs are prevented from reaching the uterus ?

° Watch Video Solution



https://dl.doubtnut.com/l/_VEsqLEqvzkz4
https://dl.doubtnut.com/l/_bYV9mfYb3T0A
https://dl.doubtnut.com/l/_MOn7OYl3pIWz
https://dl.doubtnut.com/l/_fBjiigHTgxZe

62. What will happen if there is no mitosis at all in living organisms ?

o Watch Video Solution

63. Identify the given picture. What is the message given by it?

o Watch Video Solution



https://dl.doubtnut.com/l/_fBjiigHTgxZe
https://dl.doubtnut.com/l/_wAxwcvDmiPrM
https://dl.doubtnut.com/l/_A9UMucpAddyR

64. How will you stain a microscopic slide showing mitosis in onion roots

?

° Watch Video Solution

Creative Questions For New Model Paper 2 Mark Questions

1. Accourding to weismann prediction , every organism undergoes two

kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(ii) In which cells, Meiosis takes place ?

° Watch Video Solution

2.In Meiosis , the chromosome number in the daughter cells are reduced
to half that of their parent cells . Guess, what would happen , if the

reduction of chromosome number is not done.

. l


https://dl.doubtnut.com/l/_Nwipwo0iKxy5
https://dl.doubtnut.com/l/_kC0PZVJ6I3Hr
https://dl.doubtnut.com/l/_DwQVQGG2e3dE

| ¥ Vvvatch video sSolution J

3. What are the questions you asked the doctor who visited your school

to know "the ways of transmission of HIV" ?

° Watch Video Solution

4.|dentify the flower parts a,b,c,d and write their main function.

° Watch Video Solution

5.Draw a labelled diagram of sperm.

° Watch Video Solution

6. How we will get the desired useful triats with the help of two selected

triats by using grafting method ?

| ° Wiak~h \NtdAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_DwQVQGG2e3dE
https://dl.doubtnut.com/l/_cTk3U9Ejc7YP
https://dl.doubtnut.com/l/_0F8xBgefc7os
https://dl.doubtnut.com/l/_0CNZsMJ3nTHd
https://dl.doubtnut.com/l/_tOUQ6uRsrgpY

| ¢ YVULLIL VIMLGUY JUVIUVGIVEE )

7.Draw the labelled diagram of Embryo-sac.

° Watch Video Solution

8. What questions do you ask a doctor to know about different birth

control methods ?

° Watch Video Solution

9.
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14 (IVA) [s§)S %ewomo
15(VA)  |3efaS Sivono

16 (VIA) |e8s8 Siwono S

. &S SHeoono
17 (VI1A) [F6%aS SHenomo
18 (VIIIA) | a8y srasniden



https://dl.doubtnut.com/l/_tOUQ6uRsrgpY
https://dl.doubtnut.com/l/_9cIwijftEAP0
https://dl.doubtnut.com/l/_iSmDITfQLSYn
https://dl.doubtnut.com/l/_sRjxMpEstXzy

_ o Watch Video Solution

10.
Sowg | & [ oA &6 | swye | S| defy
1(A)  [g8 esfen _ Li | Fr ns' | 1 Tl

2(11A) |6 3pas Fsen
13 (IIIA) (&foeS Sewomo

14 (IVA) [>5)S “evomo

15 (VA) |38 Henomo

16 (VIA) |85 Henomo S
; &hmS SHioono
17 (VI1A) 6t Etmomo

18 (VIIIA) (688 srcsohen

o Watch Video Solution

11. Write the process involved in seedless fruit development with two

suitable examples .

o Watch Video Solution



https://dl.doubtnut.com/l/_sRjxMpEstXzy
https://dl.doubtnut.com/l/_PMPnX2lMYp7S
https://dl.doubtnut.com/l/_VY4tBPX2QG25

12. What precautions will you take to keep away from diseases like AIDS

and othersexually transmitted diseases ?

° Watch Video Solution

13. Observe the diagram and answer the following questions.

(I) Name male and female reproductive parts of the above figure.

&2

° Watch Video Solution

14. Observe the diagram and answer the following questions.
(INWrite the names of (1) and (2) in the diagram.

&2

° View Text Solution



https://dl.doubtnut.com/l/_Dvp2k4Q3zb70
https://dl.doubtnut.com/l/_0GZCw59RPta9
https://dl.doubtnut.com/l/_4ImYJIdQOnG6

15. Write slogans on 'child marriages - a social evil'.

° Watch Video Solution

16. Write 5 slogans on the prevention of HIV/ AIDS .

° Watch Video Solution

17. What is the prevent scenario of HIV infection in Andhra Pradesh and
Telangana ?

What are the causes for HIV infection ?

° Watch Video Solution

18. Why do more complex orgaisms not give rise to new individual

through regeneration ?

° Watch Video Solution



https://dl.doubtnut.com/l/_U4TArsUPoDw7
https://dl.doubtnut.com/l/_6UfZpQYBfF6Q
https://dl.doubtnut.com/l/_bLEHVtqfUpC3
https://dl.doubtnut.com/l/_mSJuis6so9v8

19. What are the advantages of vegetative propagation ?

° Watch Video Solution

20. How will an organism be benefited if it reproduces through spores ?

° Watch Video Solution

21. Write the information you got from your teacher about role of
different parts in development of embryo.
Chorion,placenta,amnion,alantois are the embryonic membranes.Write

their functions in a tabular form.

° Watch Video Solution



https://dl.doubtnut.com/l/_mSJuis6so9v8
https://dl.doubtnut.com/l/_1pL6es5hszc3
https://dl.doubtnut.com/l/_gW2XbpqDI8ix
https://dl.doubtnut.com/l/_Ly3d9tvWMNmc

22. What causes joining up of stock and scion grafting technique of

vegetative propagation in plants ?

° Watch Video Solution

23. How does binary fission differ from multiple fission ?

° Watch Video Solution

24. Why the DNA is copying an essential part of the process of

reproduction ?

° Watch Video Solution

25. Differentiate between asexual reproduction and sexual reproduction .

° Watch Video Solution



https://dl.doubtnut.com/l/_pX3lAUUoXEql
https://dl.doubtnut.com/l/_KSp7clPKbWCE
https://dl.doubtnut.com/l/_ppB8YGrC5Y3P
https://dl.doubtnut.com/l/_j6aArjeqMdET
https://dl.doubtnut.com/l/_CmNHp1FDkFI7

26. Differentiate between unisexual and bisexual flower. Give two

examples of each .

° Watch Video Solution

27.How is the process of pollination different from fertilisation?

° Watch Video Solution

28. If a woman is using a copper-T, will it help in protecting her from

Sexuallu transmitted diseases?

° Watch Video Solution

29. Arjun Tendulkar injured his knees while fielding at ground. The injury
was headed after some days . Arjun was eager to know the process

behind it . Describe the process involved in wound healing.

e l


https://dl.doubtnut.com/l/_CmNHp1FDkFI7
https://dl.doubtnut.com/l/_XfK9WWF9i5OI
https://dl.doubtnut.com/l/_B9iJia92OMA2
https://dl.doubtnut.com/l/_mjbhf0wwnG79

| ¥ Watch Video Solution

30. Write some slogans against female foeticide.

o Watch Video Solution

31. What is fission ? Give examples.

o Watch Video Solution

32. Write a short notes on fragmentation.

o Watch Video Solution

33.What is parthenogenesis ? Give example.

o Watch Video Solution



https://dl.doubtnut.com/l/_mjbhf0wwnG79
https://dl.doubtnut.com/l/_DVes5cqEQTgN
https://dl.doubtnut.com/l/_BchwIyPpevvT
https://dl.doubtnut.com/l/_u2VQhH2gHIL0
https://dl.doubtnut.com/l/_ul6cEKNMcDAH
https://dl.doubtnut.com/l/_lgrz5zX6A7I0

34. Write short note on artifical propagation method cutting.

o Watch Video Solution

35. Write about layering. Give example.

o Watch Video Solution

36. What are the advantages of grafting?

o Watch Video Solution

37.How is tissue culture more beneficial than other traditional methords

for artificial propagation of plants ?

o Watch Video Solution



https://dl.doubtnut.com/l/_lgrz5zX6A7I0
https://dl.doubtnut.com/l/_vOfSgEGaufrz
https://dl.doubtnut.com/l/_fvXaomzzFb7Y
https://dl.doubtnut.com/l/_wctjEoIDOaYf

38. What is tissue chlture ?

o Watch Video Solution

39. How does the Rhizopus propagate ?

o Watch Video Solution

40. Write a short note on spore formation.

o Watch Video Solution

41. How spores are produced in sporangia of fungi ?

o Watch Video Solution

42, Write a short note on ovulation.


https://dl.doubtnut.com/l/_7ACK7zSZGpCB
https://dl.doubtnut.com/l/_imnEhIGAGFqL
https://dl.doubtnut.com/l/_8JRN4rVRzDye
https://dl.doubtnut.com/l/_MzkxXXKZKavk
https://dl.doubtnut.com/l/_Mscqd3hW4w8P

° Watch Video Solution

43. What is ovulation ? How it occurs ?

° Watch Video Solution

44, What is colostrum ? What is its importance ?

° Watch Video Solution

45.Ramu said that it is very essential to create more awareness in Andhra
Pradesh and Telangana on the risk of HIV infection and AIDS . Do you

belleve support him ? If so, How can you support his statement ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Mscqd3hW4w8P
https://dl.doubtnut.com/l/_kJDRpIjPY8MF
https://dl.doubtnut.com/l/_e7NQkuXtnu16
https://dl.doubtnut.com/l/_EtCIxHS0qJxG

46. What happens is flowering plant if single fertilization only takes place

?

o Watch Video Solution

Creative Questions For New Model Paper 4 Mark Questions

1. Observe the given diagram and answer the following questions .

What are the four main parts of a flower ?

&2

° Watch Video Solution

2. Observe the given diagram and answer the following questions .

(ii)Which parts of the flower produces gametes ?

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_axb8ySArQbzl
https://dl.doubtnut.com/l/_oqHjPJhgPGla
https://dl.doubtnut.com/l/_AKKfDcMlCc9d

3. Observe the given diagram and answer the following questions .

(iii) Which parts of the flower help in pollination ?

L

L

° Watch Video Solution

4. Observe the given diagram and answer the following questions .

(iv) Which part protect the flower during its bud stage ?


https://dl.doubtnut.com/l/_AKKfDcMlCc9d
https://dl.doubtnut.com/l/_xywFR9sdwNka
https://dl.doubtnut.com/l/_GEqmqTi9z6Ee

° Watch Video Solution

5. Observe the given diagram and answer the following questions .

(v) Which part of the flower with turn into a fruit in the future ?

&2

| oo


https://dl.doubtnut.com/l/_GEqmqTi9z6Ee
https://dl.doubtnut.com/l/_8Ysd34cjfED6

I & Watch Video Solution ]

6. Describe the life cycle of a flowering plant with a help of labelled

diagrams.

° Watch Video Solution

7. Draw the life history of flowering plant in the form of block diagram.

° Watch Video Solution

8. Analyze the following information and answer the following questions .
&=

(i) What do you call the give reproduction methods ?

° View Text Solution



https://dl.doubtnut.com/l/_8Ysd34cjfED6
https://dl.doubtnut.com/l/_BT8qYMpJrx32
https://dl.doubtnut.com/l/_PMfbAwtZsUfJ
https://dl.doubtnut.com/l/_28hGMQvqAPjl

9. What is the major difference between sexual reproduction and

vegetative reproduction in plants ?

° Watch Video Solution

10. Potato plants do not produce seeds. How can you propagation this

plant ?

° Watch Video Solution

1. What are the advantages of propagating plants with the above

methods ?

° Watch Video Solution

12. Explain the formation of fruits and seeds in plants.

° Watch Video Solution



https://dl.doubtnut.com/l/_XaFCCbbl03tj
https://dl.doubtnut.com/l/_3WolO7C19qAM
https://dl.doubtnut.com/l/_a4lFU5pXmwfc
https://dl.doubtnut.com/l/_KoAuZr3hYkt1

13. What are the methods of artificial propagation ?

° Watch Video Solution

14. Observe the following figures and find the stages of cell division and

explain.

&2

° View Text Solution

15. Mention the stages of mitosis with the help of diagrams . Explain the

changes that takes place in Prophase.

° Watch Video Solution



https://dl.doubtnut.com/l/_KoAuZr3hYkt1
https://dl.doubtnut.com/l/_h6uougTcfxj4
https://dl.doubtnut.com/l/_xyunujbuLnOv
https://dl.doubtnut.com/l/_sNXnouS6nRYd

16. Organisms reproduce asexually in many ways. Some of the organisms
are given below. Fill the below table based on the collected information
about the organism and mode of asexual reproduction in it .

(a) Onion (b) Spirogyra (c) Strawberry (d) Ginger (e) Honey-bee (f)

Paramoecium (g) Planaria (h) Yeast

&2

° View Text Solution

17. Draw a near labelled diagram of L.S. of flower .

° Watch Video Solution

18. What are the sexual parts in the flower ?

° Watch Video Solution



https://dl.doubtnut.com/l/_8fqWvBai5WWS
https://dl.doubtnut.com/l/_wLOimaVwxUz4
https://dl.doubtnut.com/l/_s311H9wEuwi1

19. What procedure do you follow to understand the effect of plant
growth hormones (in agar medium) in the terminal portion of the tip of

stem (coleoptile) ?

° Watch Video Solution

20. What are the materials required to prepare and test the hydrogen gas
in the lab by using acid and metal ? Where do you observe the evolved

hydrogen gas ?

° Watch Video Solution

21. The role of double fertilization in angiosperms is to produce

° Watch Video Solution



https://dl.doubtnut.com/l/_ayhSDyawP9v4
https://dl.doubtnut.com/l/_Wa0NbhYFNmYa
https://dl.doubtnut.com/l/_HlIllNFKy2mC

22. Observe the diagram and answer the following .

(1) which part produce the female gamets

° Watch Video Solution

23. Observe the diagram and answer the following .

(2) where does the fertilizatoin takes place in femal


https://dl.doubtnut.com/l/_OVDF96fRlNH1
https://dl.doubtnut.com/l/_5jYVzhRK201j

o Watch Video Solution

24. Observe the diagram and answer the following .

(3) Where does the embryo develops until is the ready to born ?

| o Watch Video Solution


https://dl.doubtnut.com/l/_5jYVzhRK201j
https://dl.doubtnut.com/l/_5cRJCwxZs4z8

25. Observe the diagram and answer the following .

(4) in some case doctors' cut and tie the cut ends of the follopians tubes.

What is the name of surgery ?

° Watch Video Solution

26. Read the following table and answer the following questions.

Sk No. |. Structure Location

No.

1. Tricuspld valve | Right auriculo-ventricular aperture
2. Guard cells Epldermis of leaves

3 Glomerulus Nephron

4. Alveoll Lungs

5. Acrosome Above the head of a sperm.

(i) Name the structure concerned to the heart.

° Watch Video Solution



https://dl.doubtnut.com/l/_5cRJCwxZs4z8
https://dl.doubtnut.com/l/_o0KUAWRZaYW1
https://dl.doubtnut.com/l/_Qy9gGLL1eTTU
https://dl.doubtnut.com/l/_ghiMJtk3EWRD

27.Read the fllowing table and answer the fllowing questions.

8L No. [, ‘Structure "Lacatlon

1. Tricuspid valve | Right auriculo-ventricular aperture
7. Guard cells Epldermis of leaves

3 Glomerulus Nephron

4, Alveoll Lungs

5. Acrosome Above the head of a sperm,

(ii) What is the function of acrosome.

o Watch Video Solution

28.Read the fllowing table and answer the fllowing questions.

S]. No. | Structure Locatlon
‘No.
1. Tricuspid valve | Right auriculo-ventricular aperture
2. Guard cells Epidermis of leaves
3 Clomerulus Nephron
4, Alveoli Lungs
5. Acrosome Above the head of a sperm.

(iii) Name the structures which are helpful for gaseous exchange.

o View Text Solution



https://dl.doubtnut.com/l/_ghiMJtk3EWRD
https://dl.doubtnut.com/l/_vGv97p6P2i1L

29. Accourding to weismann prediction , every organism undergoes two
kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(i) What does 'n' and '2n' indicate ?

o Watch Video Solution

30. Accourding to weismann prediction , every organism undergoes two
kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(i) In which cells, Meiosis takes place ?

o Watch Video Solution

31. Accourding to weismann prediction , every organism undergoes two
kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(iii) What happens , if chromosomal number is not reduced in meiosis ?


https://dl.doubtnut.com/l/_nWZNXvqrzVy9
https://dl.doubtnut.com/l/_9Krpjyo1HmlF
https://dl.doubtnut.com/l/_GEJRQFDBEfyl

° Watch Video Solution

32. Accourding to weismann prediction , every organism undergoes two
kinds of cell divisions. In mitosis, there is no change in chromosomal
number (2n) and in Meiosis, chromosomal number is reduced to half (n).

(iv) Which type of cell division occurs in the skin cells ?

° Watch Video Solution

33. Describe different artificial vegetative methods to produce large scale

production plants.

° Watch Video Solution

34.Draw a labelled diagram of female reproductive system.

° Watch Video Solution



https://dl.doubtnut.com/l/_GEJRQFDBEfyl
https://dl.doubtnut.com/l/_aBg9wPTrWssQ
https://dl.doubtnut.com/l/_BEHWgkidrTut
https://dl.doubtnut.com/l/_sfGiRgM2OPvK
https://dl.doubtnut.com/l/_IcsOtIw5skDl

35.Draw a labelled diagram of female reproductive system.

o Watch Video Solution

36. Among the following organisms can we see asexual reproduction .
Write about the method of asexual reproduction in any of the two
organisms.

(a) Paramoecium (b) Yeast (c) Spirogyra (d) Amoeba (e) Planaria

o Watch Video Solution

37. See the adjacent picture.Which type of pollination will occur in this?

Why do you think so?


https://dl.doubtnut.com/l/_IcsOtIw5skDl
https://dl.doubtnut.com/l/_IngIgbPuxzcK
https://dl.doubtnut.com/l/_ul6hIDAqAtew

° Watch Video Solution

38. Write slogans on 'child marriages - a social evil'.

° Watch Video Solution



https://dl.doubtnut.com/l/_ul6hIDAqAtew
https://dl.doubtnut.com/l/_jl4WHEU02NHX

39. Describe the structure of male reproductive system in human beings.

° Watch Video Solution

40. Describe the structure of male reproductive system in human beings.

° Watch Video Solution

41. Describe briefly about the female reproductive system in human

beings.

° Watch Video Solution

42.Describe the structure of flower with a neatly labelled diagram.

° Watch Video Solution



https://dl.doubtnut.com/l/_WEhovLOIn43S
https://dl.doubtnut.com/l/_y79E6fYniXcF
https://dl.doubtnut.com/l/_o2xEG4hKvnaH
https://dl.doubtnut.com/l/_VMsDhrbxtPIb

43. Why meiosis is called reduction division?

o Watch Video Solution

44.What is contraception ?

o Watch Video Solution

45. Describe the developmental stages of human embryo after

fertilization with the help of neatly labelled diagrams.

o Watch Video Solution

46. What is the significance of meiosis?

o Watch Video Solution



https://dl.doubtnut.com/l/_0Jz5d9KIuaAS
https://dl.doubtnut.com/l/_DCznIqugjccN
https://dl.doubtnut.com/l/_PbvuLHzQUENX
https://dl.doubtnut.com/l/_thVIzEenmf9L

47. lllustrate the process of regeneration in planaria with the help of

suitable diagram.

° Watch Video Solution

48. What are the consequences if meiosis not happen in the body cells of

the organism. ?

° Watch Video Solution

49. Ravi's father wants to cultivate potato in his field . He wants to clarify
some doubts with the agriculturals officer. Prepare a list of doubts in

form of questions for him .

° Watch Video Solution

50. What procedure do you adopt to see pollen grain with tube ?

| e |


https://dl.doubtnut.com/l/_DLrdn83vZdoy
https://dl.doubtnut.com/l/_jgsm3ho7erSd
https://dl.doubtnut.com/l/_aEQ1hfdfdAfx
https://dl.doubtnut.com/l/_wvhDmyuLtLjT

I & Watch Video Solution

51. Observe the following mitotic cell division diagram and answer the
questions given below.

&2

(i) How much time required for G; phase ?

° View Text Solution

52. Observe the following mitotic cell division diagram and answer the
questions given below.
&=

(ii) What is 'S' phase ?

° View Text Solution

53. Observe the following mitotic cell division diagram and answer the

questions given below.


https://dl.doubtnut.com/l/_wvhDmyuLtLjT
https://dl.doubtnut.com/l/_XOKQ1kojphrN
https://dl.doubtnut.com/l/_GzziuKFmhZiN
https://dl.doubtnut.com/l/_657dMvjkG2oz

&2

(iii) What is G5 phase ? What change occur during this phase ?

° View Text Solution

54. Observe the following mitotic cell division diagram and answer the
questions given below.

&2

(iv) What is 'M' phase ? How much time it required ?

° View Text Solution

55. Observe the following mitotic cell division diagram and answer the
questions given below.

&2

(v) How much time required to complete mitotic cell cycles ?

° View Text Solution



https://dl.doubtnut.com/l/_657dMvjkG2oz
https://dl.doubtnut.com/l/_1d5TXKk0fOME
https://dl.doubtnut.com/l/_ocK2MnCdymkn
https://dl.doubtnut.com/l/_tnBH3MeAHayz

56. Draw a labelled diagram of male reproductive system.

° Watch Video Solution

57.Draw the life history of flowering plant in the form of block diagram.

° Watch Video Solution

58. Label the parts for given diagram and write functions of labelled parts

1,2,6 and 7.


https://dl.doubtnut.com/l/_tnBH3MeAHayz
https://dl.doubtnut.com/l/_BXxhzgRq3awz
https://dl.doubtnut.com/l/_HhEqFTTllhlO

o Watch Video Solution

59. A person injured, after several days his wound completely healed.

What type of process took place at the injured part ? Represent these


https://dl.doubtnut.com/l/_HhEqFTTllhlO
https://dl.doubtnut.com/l/_IystCW6TSDkZ

atages with diagram.

° Watch Video Solution

60. Write two activities which you are performing to save the electricity.

° Watch Video Solution

61. Describe what life skills one should develop in Adolescent stage.

° Watch Video Solution

62. Government made an act on determining sex through ultrasound

scanning and telling it as crime . What do you do to tell this others ?

° Watch Video Solution

63. Write briefly about natural vegetative propagation.


https://dl.doubtnut.com/l/_IystCW6TSDkZ
https://dl.doubtnut.com/l/_Bf5NAkZ8YGwn
https://dl.doubtnut.com/l/_6YSFsJ1HpjMA
https://dl.doubtnut.com/l/_tNqyxJX96lBC
https://dl.doubtnut.com/l/_uyUPJ4sk5fet

° Watch Video Solution

64. All sexually transmitted diseases are completely curable.

° Watch Video Solution

65. Write a short note on Grafting.

° Watch Video Solution



https://dl.doubtnut.com/l/_uyUPJ4sk5fet
https://dl.doubtnut.com/l/_Dgo2Xht4AZHd
https://dl.doubtnut.com/l/_ckT3bhdFbhNN

